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Text: Gerald Weinkopf

Gesang
Flotgin G

Kiarinette in £s

1 Karinette in 8

2 Karinettein

3. Klarinettein 8

1. AltsaxGphort n Es
2 AlisaXephon in £
TTenorsaxophon in B
2 Tenorsaxophon in B
Baritonsaxophon in &
Fagott

Fiugélhorn in 8
2Fldgelhorn in B

1. Trampetein 8

2 TrompeteinB

1. Tenorhornin B

2 Tendthorn &
iTerothorn in B
Barion in C

1. HorinF

2.Hom inF

3 HominF

4. Hom in
LuPosaune in €
2,Posune inC

3. PosauneinC

1 Tubain €

2.Tubain €
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Schlagzeug

Schiagzeug
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FidteinC
Kiarinette inés.

1 Kiafinettein 8
2Klarinetie in 8
klarinette in B

1. Altsacophon in Es
2 Altsaxophonin Es
1. Tenorsaxgphon in B
2 Tesorsaxophon in B

Oboe
Baitansaxophon in Es

Fagott
2 Tenorhomin B
3. Tenorhom in B
Bariton in €
1. Horniin £
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So frisch wie im
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Flotein €
Oboe

Kiarinette in Es

1. Kifnette in 8

2 Krinettein 8

3. Kiarinettein 8

1. Atsaxophon in Es
2. Atsaxophan in Es
2 Rendisahophon in B
Fagott

1. Figehorn in 8

2. Fligelhar I8,

1, Tompetein B

2 Tofmpete in 8

1. Tenorhor in B

2 Tenorhornin 8
3.Tenorhorn in B
Baritopin C

2.Hom inF
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2. Hornin F

.

2. HominF

3. HominF

3.HominF

4. HominF

4. HominF

1. Posaunein €

1, Posaune in €.
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2.Posaune in C
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2. Posaune in G

EEE=

3. Posaunein C
1.Tobailp €

BE=

3. Posaune in C
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1TubainC

2,TubainC
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2.TubainC
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